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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
3000

2500

2000 -

1500 ~

1000 - Warning: col ["ECC’, "FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-2_0
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2it]2224.0 (8%) 1200. 0 3 UHKEC: 2080.0, PH: 5.6
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Warning: lcol ['PHB’,| 'PHC’'] missing

]
300 1 Bylnit @57 01:39: ET=1087 Fg=1350.0 Ro=376.0

200 -

100 A

p——&

Lo

P o ——————— —

- 2000

- 1500

- 1000

- 500

cumET (ml/plant)

0 1 2 T 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

01 [ BB | BB B|w|B|B|[B|w|r|B[K|w|B|[K |8 |8 |B|[K[8B[8]|&E|&E

200 -

100 A

- 2000

ByEt @D55 19:09: ET=1043 Fg=1650.0 Ro=nan ® ® .: *—o *—o

+_
o

p——& : © 4 @

i Y~ - L

- 1500

- 1000

cumET (ml/plant)

- 500

—_
(o]
—_
©

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 20 21 22 23

01 [ M [BMI|MW[MB]|MB[Z2=2x[2=2=[2= 2= B | B [ | B [MB]| B [Z=|2=[2=] B [ B

200 -

100 A

- 2000

1
ByWoFy @D57 01:39: ET=1026 Fg=1200.0 Ro=253.0
! o—o—o—0—o

L

- 1500

- 1000

cumET (ml/plant)

- 500

1.0

0.8

0.6

0.4+

0.2~

A1 I [MH MWW 2252525 (%7|%Z=| B | BB | BB | A | A | A |BZ|25 |55 B | BB

0.0

1500 A

1000 ~

|
[ ] | _obs
—@— PPFD obs




m=490, FV0=0 m=515, FV0=0 m=570, FV0=0

—o— ME 3857 o ME —o— ME
32.0 35
33.0 1
31.5 + 34 -
32.5
31.0 1
32.0 + 33 4
30. 5 -
31.5
30 T T T T T T T T T T T T 32 B T T T
500 600 700 800 900 1000 490 495 500 515 520 525 570 575 580
m=615,m FV0=0 m=665,m FV0=0 m=715,m FV0=0 m=755,m FV0=0
36.5
—— ME 36. 0 - —— ME —— ME —— ME
_ 33.5 -
36.0 34.0
35.5 -
35.5 - 33,0 -
33.5
35.0 -
35.0 -
32.5 -
34.5 - 33.0 1
34.5
T T T T T T T T T T T T
615 620 625 665 670 675 715 720 725 755 760 765
m=800,m FV0=0 m=855,m FV0=0 m=900,m FV0=0 m=955,m FV0=0
3351 —@— ME —o— ME - ME —o— ME
34.0 - 34.0 -
34.0
33.01 33.5 1 33.5 1
33.5 -
32.5 - 330 - 33.0 A
33.0 1
32.0 32.5 - 32.5 -
32.5
800 805 810 855 860 865 900 905 910 955 960 965
m m=490,m FV0=0 m=515,m FV0=0 m=570,m FV0=0
40 - 41 A
40 —— MW —o— MW 40 —o— MW
38 _ 40 N
38 39 A
i 39 -
| i 38 1
36 28
34 - 37 -
34 37
. 36 .
32 32 36
35 -
30 4 —o— MW 30 - 35 -
500 600 700 800 900 1000 490 495 500 515 520 525 570 575 580

m m m m



m=615, FV0=0

40 ~

39 A

38

37 A

36

35 A

—0—

M_W

615

T T
620 625

m=800,m FV0=0

40 -

39 -

38 A

37 A

36

35 A

—0—

M_W

800

T
805 810

m=665, FV0=0

40 -

39 A

38 A

37 A

36

35 A

—0—

M_W

T
665

T T
670 675

m=855,m FV0=0

40 -

39 -

38 A

37 A

36

35 A

—0—

M_W

T
855

860 865

m=713, FV0=0

40 -

39 -

38 -

37 A

36

35 -

——

M_W

34

T
715

T T
720 725

m=900,m FV0=0

40 ~

39 A

38 A

37 A

36

35 A

——

M_W

T
900

905 910

m=755, FV0=0

40 -

39 A

38 A

37 A

36

35 -

—0—

M_W

755

T T
760 765

m=955,m FV0=0

40

39 A

38 A

37 A

36

35 A

—o—

M_W

955

960 965




hour

1:40 -

6:40

7:05

10:15

13:05

100




P3-2

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

06:40 278 150.0 (Z=| {Ri%06:40 Bz (RAMERESE)
07:05 278 150.0 & =| 1Ri%e07:05 Bz (kAEREEE)
10:15 278 150. 0 FE| 1Ri%@10:15 Bzl (REAERSE)
13:05 278 150.0 FA| 1Ri%@13:05 B3 (KAHEREE)
Bit[1112.0 @k) 600. 0 3 UHHEC: 2080.0, PH: 5.6
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P3-2

BFE) | GEBRTK () | Bl (EAH/ER) | XS R

08:40 278 150.0 & =| 1Ri%@08:40 Bxh (kAEREEE)
09:20 278 150.0 & =| 1Ri%@09:20 Bz (kABEREEE)
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14:35 278 150.0 5| {Rike14:35 Bz (REAERS)
15:40 278 150.0 5| 1Ri%e15:40 B (REEREE)
2it]2224.0 (8%) 1200. 0 3203 KEC: 2080.0, PH: 5.8

#HEKRECE (2157.0 vs 3510.0) d 5
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Warning: lcol ['PHB’,| 'PHC’'] missing

]
Bylnit @D57 01:39: ET=1051 Fg=1350.0 Ro=304.0

“—

H——————————
I

$—8 88

13000
- 2000

- 1000

cumET (ml/plant)

0 1 2 3 4 5 6 7 8 9

10

11

12

13

14

15

16

17

19

20

21 22 23

T
[ =]
o
o
o

sz B | BB | BE|RB|B|KB|[RB|B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

ES
5]

=
B

E3
B

E3 ES
B 5]

200

100 -

ByEt @D53 18:38: ET=1164 Fg=2100.0 Ro=nan

2—2
0 2 | 3| 4] 5] 6] 7] 8709

10

12

13

14

15

e o

- 2000

- 1000

cumET (ml/plant)

19

20

21 22 23

T
[ =]
o
o
o

300

Z=z| H [ A | [ | [ B | EE[ZE|EE

%=

%=

E3
B

E3
B

ES
5]

ES
5]

=
B

E3
B

E3 ES
B 5]

200

100 -

]
ByWoFY @D57 01:39: ET=1025 Fg=1200.0 Ro=261.0
]

|
|
|
|
1
1
1

- 2000

- 1000

cumET (ml/plant)

1.0

0.8

2
2
5

0.6

0.4+

0.2~

_obs

PPFD_obs




33.

32.

32.

32.

32.

31.

35.

34.

34.

33.

36.

35.

35.

34.

36

34 -

32 -

30 -

28 A

400

T
600

860
m=595,n FV0=0

T
1000

——

M_E

660 665
m=765,n FV0=0

750 7%5
m=915,n FV0=0

920 925

m=440, FV0=0

30.5

30.0 A

29.5 A

29.0 A

28.5 A

28.0

M_E

440

445 450
m=650,m FV0=0

32.5 A

32.0 A

31.5 4

31.0 A

30. 5 A

——

M_E

6%5 660
m=800,n FV0=0

35.5 A

35.0 A

34.5 -

34.0 A

800

865 8%0
m=955,n FV0=0

36. 5

36. 0

35.5 -

35. 0 -

——

M_E

955

960 965

m=465, FV0=0

33.5 -

33.0

32.5 -

32.0 A

31.5 4

31.0 -

30. 5

M_E

4%0 4%5
m=690,n FV0=0

34.0

33.5 -

33.0 A

32.0 A

695 700
m=835,n FV0=0

35.5 -

35.0 -

34.5 -

34.0 -

835

8&0 8&5
m=1000m FV0=0

36. 50

36. 25

36. 00

35.75

35. 50 A

35. 25 A

——

M_E

1000

1005 1010

34.

33.

33.

32.

34.

34.

33.

33.

36.

35.

35.

34.

m=535, FV0=0

M_E

5&0 5&5
m=730,n FV0=0

7é5 7&0
m=875,n FV0=0

875 880 885

40 ~

38 -

36

34 -

32 -

30

28

%3

—o— MW

400

600 800 1000




m=440, FV0=0

38 + —0— MW
36 -
34 4
32 4
30 4
28 -
T T T
440 445 450
m=650,m FV0=0
-— MW
38 +
36
34 +
32 L T T T
650 655 660
m=800,m FV0=0
39 4 -0 MW
38 +
37 4
36
35 +
34 4
800 805 810
m=955,m FV0=0
—-0— MW
39 +
38 4
37 4
36
35 +

955 960 965

m=465, FV0=0

40

39 A

38 A

37 A

36

35 A

34 A

—— MW

4%0 4%5
m=690,n FV0=0

39 A

38 -

37 A

36

35 -

34 -

33 A

—o— MW

695 700
m=835,n FV0=0

39 A

38 A

37 A

36

35 A

34

—— MW

835

8&0 8&5
m=1000m FV0=0

40

39 -

38 A

37 A

36

35 -

-— MW

i

1000

1005 1010

m=535, FV0=0

40 A

39 A

38

37 A

36 -

35 -

34 -

—— MW

535

5&0 5&5
m=730,n FV0=0

39 A

38

37 A

36

35 A

34 1

33 A

—— MW

730

7é5 7&0
m=875,n FV0=0

39 A

38

37 A

36

35 A

34 -

—— MW

875

880 885

m=595, FV0=0

40 A

39 -

38 A

37 A

36

35 A

34

—0—

MW

595

660 665
m=765,n FV0=0

39 -

38 -

37 A

36

35 -

34

33 -

—0—

M_W

765

7;0 7%5
m=915,n FV0=0

39 A

38 A

37 A

36

35 -

34 -

—o—

M_W

915

920 925




